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Question Number : 1 Question Id : 41652913776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In the density measurement of a cube, the
mass and edge length are measured as
(10.00+0.10) kg and (0.10x0.01) m,
respectively. The error in the measurement
of density is :

Options:



3
41652953852, 10 kg/m

0.07 kg/ m’
41652953883,

3
41652953884, 031 kg/m

3
41652953885, 001 kg/m

Question Number : 1 Question Id : 41652913776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

3
41652953852, 10 kg/m

0.07 kg/ m’
41652953883,

3
41652953884, 031 kg/m

3
41652953885, 001 kg/m

Question Number : 2 Question Id : 41652913777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The stream of a river is flowing with a speed
of 2km/h. A swimmer canswim ata speed
of 4 km/h. What should be the direction
of the swimmer with respect to the flow of
the river to cross the river straight ?

Options:

41652953886, U

41652953887, 0

a
41652953888. 20



41652953889.1200

Question Number : 2 Question Id : 41652913777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

U Fel H 97 2 km/h 1 TG | 57 @ 2
UE d0F 4 km/h F1 I I REFA & | TF
%1941 & Wfa 7 #1 9 fawn, foad a1t =1
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Options:

41652953886 10U

41652953887, 60

41652953888. X

41652953889.1200

Question Number : 3 Question Id : 41652913778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A ball is thrown vertically up (taken as
+z-axis) from the ground. The correct
momentum-height (p-h) diagram is :

Options:
41652953590
E P
_>h
o
41652953591,
JH.—P
4
—I", h
o J
A
41652953892




416523953893,

Question Number : 3 Question Id : 41652913778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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(AFT +z-31%) fawn & % e B0 s
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Options:
41652953890,
S P
S h
(8]
41652953891,
.JI\.-P
2
L . h
o
|
41652953892,
-, p
—5 h
41652953893,

Question Number : 4 Question Id : 41652913779 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A body of mass 2 kg makes an elastic
collision with a second body at rest and
continues to move in the original direction
but with one fourth of its original speed.
What is the mass of the second body ?

Options:

41652953894, 10 K8



41652953895, 12 K8

1.0
41652953896. kg

8K
41652953897, O K8

Question Number : 4 Question Id : 41652913779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

41652953894, 10 K8

41652953895, -2 K8

1.0
41652953896. kg

8K
41652953897, O K8

Question Number : 5 Question Id : 41652913780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A uniform cable of mass ‘M’ and length ‘L’
is placed on a horizontal surface such that

1 \ﬂ‘l
its [;J part is hanging below the edge

of the surface. To lift the hanging part of
the cable upto the surface, the work done
should be :
Options:
Mgl

2
41652953898, N

2MgL

2
41652953899, I



MgL

2z
41652953900, 2N

41652953901, "ML

Question Number : 5 Question Id : 41652913780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
Mgl
2

41652953898, N

2MgL

2
41652953899, I

‘Mgl
.4

41652953900, 2N

41652953901, "M8L

Question Number : 6 Question Id : 41652913781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The following bodies are made to roll up
(without slipping) the same inclined plane
from a horizontal plane : (i) a ring of

radius R, (ii) a solid cylinder of radius

R R

> and (iii) a solid sphere of radius 1 If,
in each case, the speed of the center of mass
at the bottom of the incline is same, the ratio
of the maximum heights they climb is :

Options:

41652953902, 11312



41652953903, 12:19:20

41652953904, 1011517

41652953905, 2: 04

Question Number : 6 Question Id : 41652913781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

41652953902, 11312

41652953903, 14:15:20

41652953904, 1011517

41652953905, 2004

Question Number : 7 Question Id : 41652913782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A stationary horizontal discis free to rotate

about its axis. When a torque isapplied on
it, its kinetic energy as a function of 8, where
0 is the angle by which it has rotated, is
given as k02 If its moment of inertia is I
then the angular acceleration of the disc is:

Options:

Ky

41652953906, |



41652953907, 1

41652953908,

41652953909, 4

Question Number : 7 Question Id : 41652913782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

s e afas fewah a9t 941 o i g9 &
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Options:

-—.Lyr

41652953906.

41652953907, 1

41652953908, 21

41652953909, 41

Question Number : 8 Question Id : 41652913783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A solid sphere of mass ‘M’ and radius‘a’ is
surrounded by a uniform concentric
spherical shell of thickness 2a and mass 2M.
The gravitational field at distance ‘3a’ from
the centre will be :

Options:

GM

942
41652953910, “4



41652953911, A

41652953912.

3
41652953913, -

Question Number : 8 Question Id : 41652913783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

FYF ‘M’ a9 3= ‘2’ 1 U 39 el U
TFHFHHH G9F=19 ey e, fSawt q9erE
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Options:
GM
042
41652953910, 74
2GM

41652953911, A

41652953912.

3
41652953913, -

Question Number : 9 Question Id : 41652913784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Fora given gas at 1 atm pressure, rms speed

of the molecules is 200 m/s at 127°C. At2
atm pressure and at 227 °C, the rms speed
of the molecules will be :

Options:

4iso95gu1e, 100V5 mys

41652953915, SUVO m/s



100 m/s
41652953916.

41652953917, S0 mM/s

Question Number : 9 Question Id : 41652913784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1 atm <419 41 IZ?{WWGE’T@
9 & vt ®1 AW W ga a7
200 m/s | TE T F A0S 1 7 g
3 227 °C T 2 atm T TN :

Options: .

41652953914 100V5 m/s

41652953915, 805 m/s

100 m/s
41652953916,

41652953917, S0 mM/s

Question Number : 10 Question Id : 41652913785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A simple pendulum oscillating in air has
period T. The bob of the pendulum is
completely immersed in a non-viscous

1
liquid. The density of the liquid is 16 th of

the material of the bob. If the bob is inside
liquid all the time, its period of oscillation
in this liquid is :

Options:

2L —
10
41652953818,

41652953919, 15

41652953920.



T |

41652953921. 14

Question Number : 10 Question Id : 41652913785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

41652953818,

41652953919, 15

41652953920.

41652953921.

Question Number : 11 Question Id : 41652913786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Following figure shows two processes
A and Bfor agas. If AQ, and AQj; are the
amount of heat absorbed by the system in
two cases, and AU ,and AU are changes
in internal energies, respectively, then :

Options:

41650953000 AQa = AQp; AU, = AUy



AQ, >AQy, AU, > AU,

41652953923,
41652953924 2Qa>AQp, AU, = AU
a1652953025, AQa <AQg, AU, <AUy

Question Number : 11 Question Id : 41652913786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AR A AT AGB R FH W F
ferd femarm 21 9z AQ, 7 AQ,, T Wil
& SR Wifaa ST a4 AU 3 AU, 79 i
A Fell & TRE €,

Options:
41650953900 AQa = AQp; AU, = AUy

> 3 K
41652953903 Q4> AQg, AU, > AU,

41652953924 AQa > AQg, AU, = AU,

41652953925. ‘{'\QA % "'AQB ’ 5UA < leB

Question Number : 12 Question Id : 41652913787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
An HCI molecule has rotational,

translational and vibrational motions. If the
rms velocity of HCl molecules inits gaseous
phase is ¥, m is its mass and kj is

Boltzmann constant, then its temperature

will be :
Options:
_9
mv-
41652953926, TkB



mi72

5kp

41652953927.

-2
mvy
3kp

41652953828.

m'ﬁ?’
f‘)kB

41652953929,

Question Number : 12 Question Id : 41652913787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
mv-
41652953926, ' <B
mi72
41652953927, KB
o
mwy
’% -
41652953928 KB
m'ﬁ?’
41652953929, bk

Question Number : 13 Question Id : 41652913788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A string is clamped at both the ends and it

is vibrating in its 4" harmonic. The
equation of the stationary wave is
Y =0.3 sin(0.157x) cos(200wt). The length
of the string is : (All quantities are in SI
units.)

Options:



41652953930, S0 M

41652953931, 0 M

41652953932, 0 m

41652953933, 20 M

Question Number : 13 Question Id : 41652913788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
TS =/ & oF1 T =1 962 5% 11 T & a4
Iz A =qd WS H w2 59
STRITHT 70T 1 HHIE € Y = 0.3 sin(0.157x)
cos(200xt). 39 SR &I TS B
(mt ufyrr SI 9 § 1)

Options:

41652953930, 50 M

41652953931, 0 M

41652953932, 0 m

41652953933, 20 M

Question Number : 14 Question Id : 41652913789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The pressure wave,
P=0.01sin[1000t— 3x] Nm ~ 2, corresponds
to the sound produced by a vibrating blade
on a day when atmospheric temperature is
0°C. On some other day when temperature
is T, the speed of sound produced by the
same blade and at the same frequency is
found tobe336 ms . Approximate value
of Tis:

Options:

41652953934. 12°C



41652953935. 11°C

41652953936. 15%C

41652953837. L

Question Number : 14 Question Id : 41652913789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

F99 A g UF TNl G Sedfed =i F
HTIR <419 G 1 B &

P=0.01 sin[1000t —3x] Nm~ 2 39 fa=
IEHUSH 1 A99H 0°C &1 T 3R feq 9=
A T & < SH It g SHi g | Seafad
eaf1 1 fd 336 ms ! W W B T #
TTHT HE B
Options:

41652953934. 12°C

41652953935. 11°C

41652953936. %

41652953837. L

Question Number : 15 Question Id : 41652913790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A capacitor with capacitance 5 uF is
charged to 5 pC. If the plates are pulled
apart to reduce the capacitance to 2 wF, how
much work is done ?

Options:
-6
41652953938, -2 *1077]
216 6
41652953939, >16%107°]
)
41652953940, 220 %X1077]

. (4]
41652953941, /> *107%]



Question Number : 15 Question Id : 41652913790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

5 wF STt & U G &l 5 wC e Saiyme
fopan <t %1 Afe Wenf 1wl i g e
IGFT 91 2 pF RS 9 @ fF T w5

'EEITI'I :
Options:
-6
41652953938, -2 *x1077]
41652953939, 2-16%1077]
)
41652953940, >20%1077]
y 5]
41652953941, /2% 107°]

Question Number : 16 Question Id : 41652913791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A system of three charges are placed as

shown in the figure :

- =
q+—d—~> 1 Q

If D >>d, the potential energy of the system
is best given by :

Options:
| : ﬂi—l qQd
dme, d D32
41652953942,
' 5
1 ﬂ:_ qQd
dire,, d D2
41652953943,
1 [ ¢ . 2q0Qd
dwe, |_ d [)2
41652953944,

41652953945.



Question Number : 16 Question Id : 41652913791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

i fag s1Ewi &1 U e faa  <fefa 2
7tz D >>d 1 39 fam =t oy feafas et
2t

+q —q Q

—d—>

Options:

41652953942.
1 q qQd
dire,, d 2D?
41652953943,
1 [ ¢ . 2q0Qd
-«l-‘.'re(,|_ d [)2
41652953944
, ] .
q qQd
dre, d D2
41652953945.

Question Number : 17 Question Id : 41652913792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A wire of resistance R is bent to form a
square ABCD as shown in the figure. The
effective resistance between E and C is :

(E is mid-point of arm CD)
A B
D E C
Options:
—R
41652953946,
2B

41652953947,



Z R

41652953945, 64

4165239535948,

Question Number : 17 Question Id : 41652913792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Yfale R & U 9% i FaMER U 571 ABCD
¥ Hrer T 2 fag E 99 C F A" gumE

gfadis =1 |H 21 ;
(E 911 CD =1 5t 2)
A B
D E C
Options:
—R
41652953946,
% R
41652953947,
7R
41652953945, 64
| 4
41652953949,

Question Number : 18 Question Id : 41652913793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Determine the charge on the capacitor in

the following circuit :

A AA .
AV, \

60 | 144 T
VT 40> 100> =10 uF
| ]

Options:

41652953950, 2 MC



41652953951, 200 BC

41650953950, 00 HC

41652953953, 10 WC

Question Number : 18 Question Id : 41652913793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

fe 13 ey § gunfa W A&y 36 Hifed |

’ m
= 1on~» —=10 uF

72V]

Options:
41652953950, 2 MC

41652953951, 200 BC

41650953950, 00 HC

41652953953, 10 WC

Question Number : 19 Question Id : 41652913794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A rectangular coil (Dimension
5 cm x2.5 ecm) with 100 turns, carrying a
current of 3 A in the clock-wise direction,
is kept centered at the origin and in the
X-Z plane. A magnetic field of 1 T isapplied
along X-axis. If the coil is tilted through
45° about Z-axis, then the torque on the coil
is:

Options:

41652953954, 02/ Nm

41652953955, -2 Nm

41652953956, U-38 Nm



41652953957, 042 Nm

Question Number : 19 Question Id : 41652913794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T 100 L Tl AEAER (5 cm X 2.5 cm)
Fedt | 3 A F 9 TS H gE Fi fam H Fw
W €| 38 Feell F ga fag W Hiwd w6
X-Z gHad § W@ T w1 T F TEhE &9
X-313 & fan § 21 ofe Feclt 71 -1 &
9E: 45° ¥ gA ¢, T 59 W o F6 S
2

Options:

41652953954, 027 Nm

41652953955, 20 Nm

41652953956, 0-38 Nm

41652953957, 042 Nm

Question Number : 20 Question Id : 41652913795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A rigid square loop of side ‘a” and carrying
current I, is lying on a horizontal surface
near a long current [, carrying wire in the
same plane as shown in figure. The net
force on the loop due to the wire will be :

Il A 12
v A ]a
a =
Options:
41652953958, ZeT0

LI
Attractive and equal to Pol12
41652953959, 3



BoLls

Repulsive and equal to

41652953960, 4
: o 115
Repulswe and equa] to o ]

41652953961, 2w

Question Number : 20 Question Id : 41652913795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
W’a'mﬁﬁmm,w ‘H’RII2
2, U Afqe Toae W W ¥ SH JHae W
g Il WWWW@%I R 5

39 99 T &N Fel 9 8 ¢
I-iﬂ 12
' Al
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Options:

41652953958. b

ity «
R w212 3 o
41652953959, 3

el
gl wd ”Zf 2 %W
T

41652953960.

e bl
g ud 212 ¥ TR
41652953961, 2w

Question Number : 21 Question Id : 41652913796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The total number of turns and cross-section
area in a solenoid is fixed. However, its
length L is varied by adjusting the
separation between windings. The
inductance of solenoid will be proportional
to:

Options:

4165239535962, L



LE
41552955963,

41652953964, /L

41652953965. L

Question Number : 21 Question Id : 41652913796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e GRATfAR § Fel Wl i S a9 AT
S T30 €1 g S9! T g L &1 596
i F 99 gl FeeE qfEfid # g6 8
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Options:

4165239535962, L

LE
41552955963,

41652953964, /L

41652953965. L

Question Number : 22 Question Id : 41652913797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The magnetic field of a plane

electromagnetic wave is given by :

B=By i[cos(kz — wt)] + By jeos(kz + wt)

where B,=3x10"°T and B,=2x10"°T,
The rms value of the force experienced by
a stationary charge Q=10"1Cat z=0is
closest to:

Options:

41652953966. _oN

”
41652053967, S X107 N

41652953968, E¥N



'111(:“>529539ES'EJ.0'IN

Question Number : 22 Question Id : 41652913797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

UF TS faga FrasE T F TEhE 9
%

— A
B=By i [cos(kz — wt)] + By jcos(kz + wt)

7 B,=3x10-5T 341 B,=2x10-°¢ T ¥|
T R s Q=10"4C H1 z=0 W @I
T | SR O 91 WIS gl 961 i A
HH 21

Options:

41652953966.
41652953967,
41652953968,

416529539869,

Question Number : 23 Question Id : 41652913798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A concave mirror for face viewing has focal

length of 0.4 m. The distance at which you
hold the mirror from your face in order to
see your image upright with a
magnification of 5 is :

Options:

41652953970, 16 M

41652953971, 1-60 m

41652953972, 0-32m

0.24 m
41652953973.
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Y JEL H @ F o TF 0.4 m FEHE U
1 el U0 STERT A € | Ife A wfas
1 =T 31X 5 A T2l @A & o 90 =6
@T{ﬂ'ﬂmﬁ‘ﬂ:

Options:

41652953970, 016 ™

41652953971, 1-60m

41652953972, 032 m

0.24 m
41652953973.
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Correct Marks: 4 WrongMarks: 1
The figure shows a Young’s double slit
experimental setup. It is observed that
when a thin transparent sheet of thickness
t and refractive index p. is put in front of
one of the slits, the central maximum gets
shifted by a distance equal to n fringe
widths. If the wavelength of light used is

A, twill be:
J- Screen
aII
D
Options:
DA
ali — 1
a1652953974, A 1)
nDA

41652953975, AW — 1)

41652953976, A — 1)

41652053977, Ak — 1)
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oz 3 = = Tgferd wam = famamg femamn B
IE 11 W1 & T 5 U 9ael IRey HierE t
A1 YIS p B oot U T F wee
G §, @ FEE AfaFan A9 ™WE Y n
firw-dre 4 faenfoa @ w1 21 afe 5@
A H YA R T e i aies A 2
t T A B :

l
aII Screen

D
Options:
DA
a 1
41652953974, 2~ 1)

"~ nDA

41652953975, 2B 1)
2DX
41652953976, A — 1)

2nDA
41652953977, Ak — 1)
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Correct Marks: 4 WrongMarks: 1
Taking the wavelength of first Balmer line
in hydrogen spectrum (n=3 to n=2) as
660 nm, the wavelength of the 2™ Balmer
line (n=4 to n=2) will be :

Options:

41650953975, Ho-0 nm

41652953979, D022 nm

41652953980, ~00-0 nm



41652953981, 027 nm
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7 TSI TIFEH HI HYH AL @6A (n=3
T n=2) F TIeHA 660 nm, & 0 AT TR
TET (n=4 Hn=2) T T BFl :
Options:

416500953978, o9 nm

41652953979, D00-2 nm

41652953980, 00 Nm

41652953981, 027 nm
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The electric field of light wave is given as
E =10"3¢ tm{r%
\5x 1077
This light falls on a metal plate of work
function 2eV. The stopping potential of the

Y A
2w X 6 X l[]”t‘xi
] C

photo-electrons is :

12375

Given, E (in eV) = -
A(in A)

Options:

41652953982. Dy

41652953983. aey

41652953984. ey

41652953985. =Y
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YT I Teh o o faga & e B
E = 10 3¢ m’Lx_,,
oS4
TE TR UF o1 H1 @i R Afaq € fogs
FE T2 eV | RIS Seisheil o e

faywa =1 9F 2

-21.-x6x10“tJ:ri

«. 12375
M BE (eVH)=——
MA H)
Options:

41652953982. OV

41652953983. By

41652953984. ey

41652953885, ey
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An NPN transistor is used in common
emitter configuration as an amplifier with
1 k() load resistance. Signal voltage of
10 mV is applied across the base-emitter.
This produces a 3 mA change in the
collector current and 15 pA change in the
base current of the amplifier. The input
resistance and voltage gain are :

Options:

L :
41652953986. e 0N

41652953987. 0B E15

41652953988. 0.67 11, 300

41652953989, 0-67 k2,200
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Tsh NPN 152t %l SYEiTs3 Scsis (o
H TF §aHF (amplifier) F1 T ITAN FLd
£1 3EH 1k & i Wfaig e g1 10 mV
F1 T e diees YR 9 Scdei® & J99 H
I T HATES SR H 3 mA 1 3 SR SR
H 15 pA &1 qftadq 2 €1 e wfadig aen
diees A (gain) % HH B :

Options:

L :
41652953986. e 0N

41652953987. 0B E15

41652953988. 0.67 11, 300

41652953989, 0-67 k2,200
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A signal Acoswt is transmitted using
v, sinwgt as carrier wave. The correct
amplitude modulated (AM) signal is :

Options:

v, sinw,t + Acoswt
41652953990, 0 0
41652953991, WO T -Hcosut st

i A i A, 1

VSN, b+ —?- mn(mﬂ - m.]t + “?51“["*n+ m}t
41652953992, 2 >
iipusagay e Ol Adneg
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s T99d Acoswt &1 91 dGE&F L7
v, sinw,t ¥ & < 21 W& smm Aigfea
for=e1 2

Options:

0, sinwgt + Acoswt
41652953990,



41650953991 (Pot A)coswt sinwyt

. . "I\ . \ J'.\. - ' )
Ugsinwg t+ — mn(mn —w|t+ —sin |wy+ w]t
41652953992, % R

n sinfwq(1 + 0.01 Asinwt)t
41652953993, ° Lo g

Question Number : 29 Question Id : 41652913804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If ‘M’ is the mass of water that rises in a
capillary tube of radius ‘r’, then mass of
water which will rise in a capillary tube of
radius ‘2r' is :

Options:

41652953994,
41652953995,

4165239539396,

p—m,

M
41652953997, 2
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afe wh o T el 8 =% g u
= FAEA ‘M 7 @ 2 B @t e el
¥ 92 31 IHT 1 Z49H BF1 :

Options:

41652953994. &

41652953995,

4165239539396,

M

2

p—m,

41652953897
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Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
A moving coil galvanometer has resistance

50 2 and it indicates full deflection at 4 mA
current. A voltmeter is made using this
galvanometer and a 5 k() resistance. The
maximum voltage, that can be measured
using this voltmeter, will be close to :

Options:

41652953998. Y

41652953999. BY

7
41652954000, N

41652954001, Y

Question Number : 30 Question Id : 41652913805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T He1 el SRET 1 9y 50 Q T 99
TE 4 mA 9 Y g {98 fammr 21 S5 k0
Yiaais &1 SYAN FH U SeeHiel F9 § |
T AeeHIR I ATIFHaH A1 < Tl J1el afees

%1 fareas wF 2 -

Options:

41652953998. B

41652953999. BV

7
41652954000, 20V
41652954001, Y
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Question Number : 31 Question Id : 41652913806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product of the following reaction
is:

CH,CH=CHCO,CH, —204

Options:
41652954002, CHaCH,CHCO,CH,

41852954003, CHaCH=CHCH,0OH

41652954004 —HaCHCH,CH,OH

41652954005, CHaCHCHCHO
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frfafaa sifafeEa =1 9= 3oe € -

LiAlH,

Options:

1652954002, “HaCH,CH,CO,CH;

41652954003 “HaCH=CHCH,0H

41652954004 —HaCHCH,CH,OH

41652954005, —TCHCHCHO
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The increasing order of reactivity of the
following compounds towards aromatic
electrophilic substitution reaction is :

Cl OMe Me
( S /"\x‘ 7 R i
5 B C D
Options:
41652954006, A <B<C<D

41652954007, D <A<C<B

41652954008, D <B<A<C

41652954009, B<C<A<D
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frafafaa @i & WHfes soEeTe
gfaeeamaq sifufer & fere sifufsramstiaa

TR FAC :
cl Me CN
!ﬁ:‘:-\h.:"-m] !.‘_‘, . _'_'._.-/ e ::1 ( _ﬁ-. -ﬂ_-\-
EI\‘-_‘.‘:‘;::— L-\.._ = -\__H-(:;.‘-" “‘-\‘_‘_ -
A B C D
Options:
41652954006, A<B<C<D
41652954007, D <A<C<B
41652954008, D <B<A<C
41652954009, B<C<A<D
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The major product of the following reaction
is:

(i) DCI (1 equiv.)
(ii) DI >

CH3C=CH

Options:

41652954010, CHRCDCH(CD)(I)

41652954011, “HaCPMCHD(C)

41652954012 “TCDE)CHD()

a1652054013, —HCOECE)CHD,
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frefafaa sfufra T g sAae 2

(i) DCI (1 =ndge) .
(ii) DI ]

CH3C=CH

Options:

41652954010, CHACDCHCD)(T)

41652954011, —HaCDMCHD(C)

41652954012 CHaCD(CE)CHD()

41652954013 CH,C(I)(CHCHD,

Question Number : 34 Question Id : 41652913809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which of the following statements is not
true about sucrose ?
Options:
On hydrolysis, it produces glucose

41652954014, and fructose

Itis a non reducing sugar
41652954015,



The glycosidic linkage is present
between C; of a-glucose and C, of

41652954016, B-fructose

Itis also named as invert sugar
41652954017,

Question Number : 34 Question Id : 41652913809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
g F Gy # Frefafes § § 6-m w21
T &2
Options:

Sl ATEfed 3 T, T T a1 Ees
41652954014, A E

41652954015, T TP SIS YT ¥
o TR F C, T B-FRIS 6 C,
41652954016. S| ; : aﬂm%l

TE U ST WU il @ At S S
41652954017, €
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The major product of the following
reaction is :

/ ", OHI. PBr, )
3 Wil 2. KOH (alc.)
O/
Options:

41652954018 HO

41652954019, O



7 N\
& ~>—0OH
v
O

41652954020
s B
C;/
41652954021,
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Frefafas afafFrn =1 g=r s = 2

1. PBr,
< >—OH »
e 2. KOH (alc.)
P,
o
Options:
-'.z"'ff, \\;—"\\-\"-\.
\://
rd

41652954018 HO

41652954019, O

7 N\
& ~>—0OH
4
-0

416852954020
s B
C;/
41852954021,
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The major product of the following
reaction is :
1) KOH (alc.)

- , .
™~ (2) Free radical
polymerisation
# Cl
Cl
Options:

41652954022, L2

o
'

g

41652954023,

41652954024,

41652354025,
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freiferfaa siffHan &1 e 9% & :
_, (1)KOH (alc) _
T PEGESN
g

P Cl



Options:

41652954022, =

e,

41652954023,

41652954024,

41652354025,
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The major product of the following,

reaction is:
CHoCHj

(i) alkaline KMnOyg
(i) H3O* '

Options:



COCHj3

41652954026, f

COOH
41652954027 %

CH,CHO
41652954025,

CH,COOH
41652954029,
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o=t safufsran =1 g s #
CH»CH3

(i) @ KMnOy
(ii) H30 ™"

Options:
COCHjy

41652954026,

COOH

41652354027,



CH,CHO

41652354028,

CH,COOH

41652954023,
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The organic compound that gives

following qualitative analysis is :

Test Inference
(@) Dil. HCI Insoluble
(b) NaOH solution soluble
(c) Br,/water Decolourization
Options:

~OH

)

41652954030
‘ ~NH»
41652954031
‘,-'DH
41652954032
41652954033,
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%ﬁl%,ag%;
Wﬁam HTAA
(@ ©9 HC ST
(b) NaOH faema  gereia
(©) Bry/w@ 1 & o B
(faavi)
Options:
OH
41652954030,
‘/NHE
41652954031
‘C}H
41B52954032.
ONHZ
41652954035,
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The correct IUPAC name of the following

compound is :

<
£

Options:

\ 1 4 f{;"

—_—

41652954034, 5-chloro-4-methyl-1-nitrobenzene

41652954035, 2-chloro-1-methyl<4-nitrobenzene



41652954036, 2-methyl-5-nitro-1-chlorobenzene

41652954037, 3-chloro-4-methyl-1-nitrobenzene
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Trfafaa afie =1 |98 IUPAC TH ©

o
L

| 1
Y

“

| "k
\£ Cl
Hs

Options:

41652954034, 5 TAR-4-HIUE- 1- g2

" LY -\ y LY ﬁ
41652854035, 14t e

= 51 T
41652954036, 2~ TAO-5-EgH1 FARTESIA

41652954037 3 FAR-4- AU 1- TSI
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Aniline dissolved in dilute HCI is reacted
with sodium nitrite at 0°C . This solution
was added dropwise to a solution
containing equimolar mixture of aniline
and phenol in dil. HCl. The structure of
the major product is :

Options:

41652354038, 3 —

41652954039, — \—/



r N r w
r{f N, e r/d "
o N D
41652954040, e
fa-" \‘-\- A }
:/" "'\\ i "
¢ ~N=N<"  -OH
oy o o
41652954041, N—
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1 HC1 ¥ Tt g8 Uie &1 |ifead A5eEe
F WY 0°C R Afufrfaa fen s/ 21 39
faeram =1 Ufer= aun feata & gaeera fago
F 1 HC Taeraa 9 d95-98 +3 fHamn s
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Options:
2R N
x‘ —N=N-NH- ),
™, ; M, /
41652954038, —
)'{f Y .’,-'"f' '\.\
{/ \‘"j“;— N=N-0<"
\_‘ r \ __/J
41652954039, N/
);'.-' x'\-\- j__j:—’ l"‘-:"-__
h, / ™, ’
41652954040, ~— h—
j;:—::;Qt R
¢ N=N—"  “—OH
i ’; \“x /
41652954041, —
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The element having greatest difference
between its first and second ionization
energies, 1s :

Options:

41652354042, o

41652954043, Ca



41652954044, ™

41652354045,
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99q a9 f5dta S SeiE & &g gaiias
TR aTa i 982
Options:

41652354042, 2

41652954043, <2

41652954044, ™

41652354045,
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The ore that contains the metal in the
form of fluoride is :

Options:

41652954046, sphalente

crvolite
41652954047, -

41652954048, agnetite

41652954049, Malachite
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I ST 91 TIEe FEIH ¢, T

Options:



5

41652954048, eTEe

41652954049, o
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The number of water molecule(s) not
coordinated to copper ion directly in
CuSO, 5H0, is:

Options:

41652954050,
41652354051,
416523954052,

41652354053,
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CuSO, 5H,0 H, FIH 7 F 919 HiY &9
¥ IqFeHdIfad Tal e ae/a 9 d &
ﬂ(aﬁ) & HE T

Options:

41652954050,

41652354051,

416523954052,

41652354053,
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Magnesium powdcr burns in air to give :

Options:

41652954054, M8O only



Mg(NO,), and Mg .N,
41652954055, g(NO;), 832

41652954056, M8O and Mg;N,

MeO and Mg(NO,),
41652954057, | © 8(NO3),
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Hrifers U=et 9 | Sors < €
Options:

MgO A=
41652954054.

41652054055 MB(NO3), T Mg:N,

MeO 4T Mo..N-
41652954056, 18O 83N>

M a4 Me(NO.),
41652954057, g0 gMNO),
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The correct order of the oxidation states
of nitrogen in NO, N,O, NO, and N,O,
is :

Options:

41652954058 NO2 < NO<N,0; <N;O

~ < ), < < -
416529540589. NO— N-O} Nl N—O

41652954060 20 <NO<N,0;<NO,

N,O < N,O, < NO< NO,
41652954061, - o .
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NO, N,O, NO, @1 N,O, # rsgisH i
ST SEEAE] o W FH

Options:



41652954058 NO2 < NO<N,0; <N;O

"‘J< 3 ?{ < |
416528540589, g gy S g

31652954060, 120 < NO<N,0,<NO,

N,O < N,O, < NO< NO,
41652954061, - e *
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C,o an allotrope of carbon contains :

Options:

2
41652954062, 20 hexagons and 12 pentagons.

41652954063, 12 hexagons and 20 pentagons.

41652954064, 16 hexagons and 16 pentagons.

41652954065, 18 hexagons and 14 pentagons.
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HET F TH AREIC,, A A & -
Options:

41652954062, 20 TS 991 12 99T

41652954063, 12 T<q™ 91 20 FEYS

41652954064. TSN o e WS

41652954065, s 1
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Match the catalysts (Column I) with
products (Column II).

Column 1 Column I1
Catalyst Product
(A) V505 (i Polyethylene
(B) TiCl,/Al(Me), (ii) ethanal
© Pda, (iii) H,SO,
(D) Iron Oxide (iv) NH,

Options:
41652954066, (A)-(i); (B)-(iii); (C)-(i); (D)-(iv)

41650954067, (A)(); (B)-(iid); (C)-(i); (D)-@)
41652954068, (A-(HD); (B)-(iv); (C)-(1); (D)-(ii)

41652954069, MH(D); (B)-(1); (C)-(ii); (D)-(iv)

Question Number : 47 Question Id : 41652913822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

IAH (FTAT 1) FI SRl (FTAF 11) F

1Y gHfAd HITorg

HTed 1 & 11

EL’EC EL I
(A) V,0; (i) e
(B) TiCl,/Al(Me), (i) TS
(©) Pdcl, (iii) H,SO,
(D) PRA SRS (iv) NH,
Options:

41652954066, (A)-(i); (B)-(iii); (C)-(i); (D)-(iv)
41852954067, IV (B)-(iid); (C)-(i); (D)-)
41652954065, (A)-(iD); (B)-(iv); (C)-(); (D)-(i)

41652954069, AHD); (B)-(1); (©)-(i); (D)-(iv)

Question Number : 48 Question Id : 41652913823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
The one that will show optical activity is :

(en=ethane-1,2-diamine)

Options:
A s
N
- ~
"MW en
SRS 7
41652954070, B
i
B i B
B
- M S,
41652954071, A
g2
s
en :: M~ en
41652954072, A
A
A e = B
oM
B
41652954073,
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ST Y& oteal Wi wa E TR
(en= t{ﬁ‘l—l,?.—'e’l?ﬁﬁﬂ)

Options:

en

41652954070, B



B B
M7
41552954071, g
-
en :: M~ en
41552954072, A
A
A s r B
e
B - e A
B
41652954073,
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Correct Marks: 4 WrongMarks: 1
The degenerate orbitals of [Cr(H,O)J**
are:

Options:

d» »andd
41652954074, * ¥ *y

d..and d, .
41652954075, * dy;

d.»and d_‘_:

41652954076, *

d,.and d.2
41652954077, ¥< =
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[Cr(H,0) ]** ¥ Tvgiea % ¢ -

Options:

d2_.2 @4d_
41652954074, * ¥ xy

d,.dard.,.
41652954075, *< d?“



do2d9md, .
41652954076, -~ =

a9 d.2
41652954077, dyé z

Question Number : 50 Question Id : 41652913825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1
Excessive release of CO, into the

atmosphere results in :

Options:

41652954078, depletion of ozone

4165054075 formation of smog

global warming
41652954080,

lar vortex
41652954081, re

Question Number : 50 Question Id : 41652913825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AT H CO, &1 ST Afaa s 1 gfoms

2
Options:
41652954078, e 1 HAHT

41652954079. el

41652954080, A

41652954081, 37 UiHA (vortex)

Question Number : 51 Question Id : 41652913826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1
For a reaction,

Nj(g) + 3Hy(g)—> 2NHy(g); identify

dihydrogen (H,) as a limiting reagent in the
following reaction mixtures.

Options:



41652954082, 1280 Ny+ 4gof Hy

fN.+ 6 ¢ of H,
41652954083, 2 80I Not 6 gof Hy

41652954084, 2 8N+ 8gof H,

56 g of N, + 10 g of H,
41652954085. & <
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EIRIER

Na(g) + 3Hy(g) = 2NHs(g) F fam

frefafaa afufrares g § smersor

(H,) = Himid AfFHe & €9 H§ q8=14
Options:

41652954082 N2 ¥ 14g + HyFld g

41652954083 N2 T 28g+ H,F6g

41652954084, - =

56 _F10
41652954085, N2 ™20 g + H, 8

Question Number : 52 Question Id : 41652913827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1
Consider the van der Waals constants, a

and b, for the following gases.

Gas Ar Ne Kr Xe
a/(atmdm®mol =% 13 02 51 4.1
b/(10-2dm*mol~! 32 1.7 10 5.0

Which gas is expected to have the highest
critical temperature ?
Options:

41652954086,

41652954087, 1\e



41652954088.

41652354053, Xe
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frafafaa 4 % JretEcy fegi® a a9 b
Wﬁﬂﬂﬁﬁm:

9 Ar Ne Kr Xe
a/(atmdm®mol %) 13 02 51 4.1
b/(10-2dm*mol~ 9 32 17 10 50

Frafefaa J 9 e fo shifas o < waitas
B T HHEAT 2 2
Options:

41652354056,

41652954087, Ve

41652954088. =

41652354053, Xe

Question Number : 53 Question Id : 41652913828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1
For any given series of spectral lines
of atomic hydrogen, let
AV = Tmax — Pmin be the difference in
maximum and minimum frequencies in
cm L. The ratio';\‘ﬁl_l‘ man /AVBalmer iS:
Options:

g7
41652954090, 2 2

4
4165293540391,

9:4
41652954092,

41652954093, ° 4
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T FEEISE & Tiagd Eisl Hi 9t TS
sjEensil % fore afs S=an au ey st

# SR AV = Vmax — Pmin (cm ™! 5 )%_ﬁ\T
9 .Aﬁl_l\ man /AVBalmer 2

Options:

g o7
41652954090, 2 2

4
416523954031,

9:4
41652954092,

41652954093, ° 4

Question Number : 54 Question Id : 41652913829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Among the following, the molecule
expected to be stabilized by anion
formation is :

C,, 05, NO, F,

Options:

0,
41652954084, -~

G
41652954095, -

NO
41652954096,

416523540897, <
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frafafaa | 4, =1 st FomA T9&
T B H GHETE, TR
C,, 0, NO, F,

Options:

(3% ]

41652954094,



G
41652954095, -

41652954096,

al

41652954097, -

Question Number : 55 Question Id : 41652913830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1
Among the following, the set of parameters

that represents path functions, is :
(A) q+w
B) q
€ w
D) H-TS
Options:
41652954098, (A and (D)

41652954099, (B)and (©)

41652954100, (B (©) and (D)

41652954101, (A) (B)and (C)

Question Number : 55 Question Id : 41652913830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1
Frefafad 5 9, I=al & 98 I=d o 1Y

(A) qtw
B) q
) w
D) H-TS
Options:

41652954098. )

41652954099. (B) T (O

41652954100, ) (© T (D)



41652954101, ) (B) T (CQ)

Question Number : 56 Question Id : 41652913831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Liquid ‘M’ and liquid ‘N’ form an ideal
solution. The vapour pressures of pure
liquids ‘M" and ‘N’ are 450 and
700 mmHg, respectively, at the same
temperature. Then correct statement is :
(xyy= Mole fraction of ‘M’ in solution;
xy; = Mole fraction of ‘N’ in solution;

Yy = Mole fraction of ‘M’ in vapour phase;

iy = Mole fraction of ‘N’ in vapour phase)

Options:

™M _ Ym

Xng 1
41652054102, N N

M, M
41652954103, "N N

M _ M

X i
41652954104, ~ N N

Xy~ VYaq) < (X )
sigEsrssdins PM—IM < By —¥N)
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29 ‘M T 29 ‘N’ U Ay fae=H =9 € |

IS F9 ‘M a9 N’ F A g 39 a9 W

FAW: 450 T 700 mmHg & @ F& FeA

T:

W xy, = faeEa § M F e 5 ;
xy= Tae@F § N =1 Hier 39 ;
Yy = AT ST H ‘M H HIOR A ;
Yy = T T H N 1 HIeR 9 ;

Options:



41652954102.

41652954103.

M I\

XN [
41652954104, = ™ YN

siEEsaEd1EE M W < Oy — )
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The osmotic pressure of a dilute solution
of an ionic compound XY in water is four
times that of a solution of 0.01 M Ba(Cl, in
water. Assuming complete dissociation of
the given ionic compounds in water, the
concentration of XY (inmol L~ !) insolution
is:

Options:

41652954106, %1077

4
41652954107, 10%10

41652954108, 0% 107~

-4
41652954109, %10
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WA ¥ U s i XY F 7 faema
RIEE 24, 0.01 M BaCl, % 5l H foeram
F TEE 2| H AR A | fou e st
ATl 1 o H fadem g 99 gu, faeem
H XY &1 "igal (mol L1 H) 2l :
Options:

s TN
41652954106, X107



T
41652954107, 10%10

41652954108, 0% 107~

4
41652954109, %10
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The standard Gibbs energy for the given
cell reaction in k] mol ~ ! at 298 K is :

Zn(s) + Cu®*(aq) — Zn**(aq) + Cu(s),
E°=2Vat298 K
(Faraday’s constant, F=96000 C mol " /)

Options:

41652954110.192

41652954111.

41652954112, — o84

41652954113 -192
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fe T I sfafwa % fag 298 K W w9
fireg Fsti (kJ mol ! H) 7

‘Zn(s) + Cu?? (aq) — an(aq) + Cu(s),
298 K WE*=2V

(e feemish, F=96000C mol 1)

Options:

41652954110.}92

41652954111,

41652954112, — o84



41652954113, 192

Question Number : 59 Question Id : 41652913834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The given plots represent the variation of
the concentration of a reactant R with time
for two different reactions (i) and (ii). The
respective orders of the reactions are :

(i) (i)

In[R]] - [RI| ™~

Options:

r

41652954114

41652954115, L9

41652954116, L

41652954117, 0,2
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4 fea ™ e, I SAfafFEDE () a9 (i)
& for, sfyade R &t 9r=d &1 999 % 919
F HiHE FIEE :

Options:

0,1
41652954114,

41652954115, L9



41652954116, L1

0,2
41652954117,

Question Number : 60 Question Id : 41652913835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The aerosol is a kind of colloid in
which :
Options:
41652954118, liquid is du-;pcrsed in water

gas is dispersed in liquid
41652854119.

gas is dispersed in solid
41652954120,

" solid is dispersed in gas

Question Number : 60 Question Id : 41652913835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
WEd T UH HAe &, fogy
Options:

4165295411 T A A4 ARfEa I

41652954119, =3 A T IRIAE €|
41650954120, S8 H TH ARG 21

A1EESEE4151. 9 ¥ 39 gifad 21
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Question Number : 61 Question Id : 41652913836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If the function f: R—{1, —1} — A defined
' 2
by f(x) = 1 5, is surjective, then A is
52

equal to:

Options:

R-[-1,0)
41652954122,

41652954123. B3

41652954124. R--L0)

[0, =)
41652954125

Question Number : 61 Question Id : 41652913836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

2
[ o x
AGFFfR—{1, —1] = A, f(x) = 8

4

b
FT0 Ufenfe & 9 SIS (surjective) &, &
A9 % 3
Options:
R-[-1,0)
41652954122,

41652954123. B4

41652954124. R--L0)

[0, =)
41652954125,
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All  the points in the set

|

Options:

i r - : * 9
41652954126, circle whose radius is v2 .

41652954127, circle whose radius is 1.

aysseosayzs; Prgntline whooeslope sl

41652954129, Straight line whose slope is —1.

Question Number : 62 Question Id : 41652913837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

qH=ET S={“.I ; e 1 R} (i = J_I) *
a—1

weft g forg e & 7w %

Options:

41652954126, T T0 foEt B V2 7

41652954127 P 0 fowa! 1 €

41652954105 &P T vl fowt @1 (slope) 1%

T W o faust 7re -1 )

41652954129.
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Correct Marks: 4 Wrong Marks: 1

Letp,qeR. If 2 V3 is a root of the
quadratic equation, x?+px +q=0, then :

Options:

41652054130, P~ 44 +12=0
2 4p—-16=0

41652954131, 1 ~*P

_, —
41650954130, P~ 49 —12=0



q>+4p +14=0
416852954133,

Question Number : 63 Question Id : 41652913838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

" p, q e R, A 2~ V3 fgumdt wedemm
xz+px+q={]aﬂ‘t{aﬂf‘l%,ﬁl:

Options:

41650954130, P-4 +12=0

41650954131, 4 4P —16=0

., 4 — o
41652954132, P~ 494~12=0

q”+4p +14=0
41652954133,

Question Number : 64 Question Id : 41652913839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let a and B be the roots of the equation

x> 4+x+1=0. Then for '}}10 in R,

Iy' Fl « 3
Sl i is equal to:
B 1 yta
Options:

41652954134, YW~ —3)
P-1

41652954135, *

416852954136,

41652954137, 4

Question Number : 64 Question Id : 41652913839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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A o A1 B, THEH 22+ x+1=0F T &,

-Llf Fl  « B

ARTyz0¥fm | ¢ YB 1 |
=] 1 yta

e:

Options:

41652954134, YV —3)

41652954135, ¥ 1

41652954136.

41652954137, y
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If

I

s Y
then the inverse of [0 .1] is:

Options:

0
12 1
41652954138.

41652954139,
[1 -13]
0 1
41652954140, " .
1 -12
0 1
41652954141, - ’
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=
AP P e
T [(1] r;] &1 FhH (inverse) g:

Options:

1 0
12 1
41652954138.

41652954139, -

41652954140. ~

41652954141.
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Correct Marks: 4 WrongMarks: 1
A committee of 11 members is to be formed
from 8 males and 5 females. If m is the
number of ways the committee is formed
with atleast 6 males and n is the number of
ways the committee is formed with at least
3 females, then :

Options:

41652954142, P=M~8

m=n=78
41652954143,

m=n=68
41652954144,

41650054145, M n=68
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8 JEui a1 5 Afgensti § 4 11 9= &l Th
FH I 9T & | Af 9 T F9 6 TEH1 Jet
A T T m T & 7 FH J FH 3 Afeensi
ATt FHE FH F n TF €, o :

Options:
41652954142, N=m—8

m=n=78
41652954143,

m=n=68
41652954144,

41650954145, M n=68
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Correct Marks: 4 WrongMarks: 1
Let the sum of the first n terms of a
non-constant A.P., ay, Ay Az, weeenens be

50n + MA , where A is a constant.

If d is the common difference of this A.P.,
then the ordered pair (d, a;) is equal to:

Options:
41652954146, (00 50+46A)

41652954147, (A D0+46A)

41652954148. (A 20-+424)

41652954149, ol SR

Question Number : 67 Question Id : 41652913842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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et fysr wel A wmwia 99
(non-constant A.P.) a;, a,, a3, cccuevee F gum

n 921 = AMTEA 50n 4 MA T el

A U% 3R 2| 3fe 39 9uia 421 =1 Gresiad
d 3, T &fHa T (d, ag,) TR T

Options:



41652954146, (20, 90+46A)

41652954147, (A 50+46A)

41652954148, (A 20 +454)

0, 50 +45A
41652954149.(5 e
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Correct Marks: 4 WrongMarks: 1
10

fla+k)=16(210-1)
k=1

Let , Where the

function fsatisfies f(x +y)=f(x) f(y) for all
natural numbers x, y and f(1)=2. Then the
natural number ‘a’ is :

Options:

41652354150, ;
416523954151,

41652954152,

416523954153, o

Question Number : 68 Question Id : 41652913843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

10
= ;f(alk)=1a(2‘” |

9TFd H§emHl x, y & fau, weA f,
flx+y)=f(x) fly) 1 TT= FTE T f(1) =2
T1 W UFd HE 2’ A E

Options:

41652354150, ;
416523954151,

41652954152,



41652954153, -
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If the fourth term in the Binomial expansion

) 1 ,'\6 =
of | =+ 88 | (x>0)is20x87, thena
\ X /

valueof x is :

Options:

31
41552954154,

416523954155,

41652954156, O

41652954157 5
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N ¢
2 ' "‘ -
Z 4 8% | (x> 0) % fgue wER w=

" J

7

qfe

AT I2 20 X 87 B, il x 1 TH HA 2
Options:

31
41552954154,

416523954155,

41652954156, ©

41652954157 O
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If the function f defined on (—, —J by

Ir L
!\Ecosx 1 x#

f(x)=1 cotx—1 :L_
| =%
| k=

is continuous, then k is equal to :

Options:

.
41652954158,

1
4168525954153, 2

41652354160, !

12
41652954161. J:
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Ife Fer f, (% %l T 39 TER afiE

: -\Ecosx 1 x=
& f(x)={ cotx—1
| k J =

S ERSE

Hqd 2, a1 k FUE B
Options:
41652954158,

1
4168525954153, 2

41652354160, !

)
41652954161. J:

Question Number : 71 Question Id : 41652913846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Let f(x)=15-|x10|; x€ R. Then the set of
all values of x, at which the function,
g(x)=f(f(x)) is not differentiable, is :

Options:

41652954162.[10]

41652954163, (10, 15}

41652954164, 110,13}

41652954165, > 10: 15,20}
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

13IT:‘H.;’(1‘)=15 |I 1[]|;x eRE WaxF A
g4t Al %1 9q=E, f99 W weA
g)=f(f(x)) HTFer1a Tl €, ¥ :

Options:

41652954162.[10]

41652954163, (10, 15}

41652954164, 110,13}

41652954165, > 10: 15,20}

Question Number : 72 Question Id : 41652913847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let S be the set of all values of x for which
the tangent to the curve
y=f(x)=x"—2"—2x at (x, y) is parallel to
the line segment joining the points (1, f(1))
and (-1, f(—1)), thenSis equal to :

Options: _
]

{1, 1}

41652954166. 3

J



41652954167,

U5
41652954168. i
U5

3

Question Number : 72 Question Id : 41652913847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AAIS, x F 3 A AH F w=A €, TR W
TH y=f(x) =2 — 22— 20 % T4 (x, y) WG
e TR T g (1, (1) 79 (-1, f(- 1)
%1 foer el T@rave F 99 8, 91S aUe
T

Options:

41652954169.

41652954166.

41652954167,

U5
41652954168. :

41652954169.

Question Number : 73 Question Id : 41652913848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If f(x) is a non-zero polynomial of degree
four, having local extreme points at
x= —1, 0, 1; then the set

S={x e R:f(x)=f(0)
contains exactly :

Options:



two irrational and two rational

41652954170, numbers.

two irrational and one rational

41652954171, humber.

four rational numbers.
41652954172, L G

41650954173, lour irrational numbers.

Question Number : 73 Question Id : 41652913848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Af f(x), = =R 1 Th AT QTR ¢, forh
= 9 faigx=~1,0,1 W€ o1 99=94
S=fx e R:f(x)=f(0)} H 9= :

Options:

41652954170, e TS gl

41652954171. - T i

41652954172, T I HEA € |

41652954173, TR ST HEA €|

Question Number : 74 Question Id : 41652913849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

p 2{3 4/3.. T
The integral |sec By cosecx dx is
equal to :

(Here C is a constant of integration)

Options:
=
41652954174, o0t x4 C
3 tan~ 13y 4 C
b T R B
3 ¥
2 an Y3y + C

41652954176, 4



- -1/3_ -
41650954177, > @n Tx + C

Question Number : 74 Question Id : 41652913849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TR sec?/3x cosec?/3x dx TEE

(T@l C Us AHHeA 7= 8)
Options:
a ot . 55
41652954174, OOt Tx + €
’ ~1/3 "
3 L2
e i ik R

3 3
Ztan 3y 4+ C

41652954176, 4

- -1/3_ -
41650954177, > @n Tx + C

Question Number : 75 Question Id : 41652913850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

-7
II"I’b ‘ 3 =
j sin” x d
. £ - ax E. .
The value of ST & COeE is:
0
Options:
=1

41652054178, 2
41652954179, 4
41652954180, O
41652954181, 4

Question Number : 75 Question Id : 41652913850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



w/2 3

J sin” x i

X E
sinx + cosx WW%
0

Options:

=

41652954178, 2

41652954179, 4

41652954180, O

41652954181, 4

Question Number : 76 Question Id : 41652913851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The area (in sq. units) of the region

A={x,y):x* <=y <x+2}is:

Options:
31
41652954182 ©
10
41652954183,
13
6
41652954184,
9
2
41652954185,

Question Number : 76 Question Id : 41652913851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
FTAA={(x,y):22 = y<x+2} F&AFA (T
ghIedi H) T :

Options:

1

3
6
41652954182.



41652954183,

13
6
41652954184,
9
2
41652954185,

Question Number : 77 Question Id : 41652913852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The solution of the differential equation

dl ¥
13“' b 2y=x" (x # 0) withy(1)=1, is:
Options:
55 . 1
= —x? 4
73 4x*
41652954188,
4 ]
y= % + —
41652954187, Sx
= x? | 3
L )
41652954188, ¢ &
‘lf = I3 | 1
) 5 5x2
41652954189,

Question Number : 77 Question Id : 41652913852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e THIR xd—y | 23,':1‘2 (x = 0) =1

d.x
7o foms o y(1) =173, 7
Options:
3 1
y = 28 .
4x
41652954186.
4 1
y=—x

41652954187, 5 5x



e y2 ; 3
y - & 3
41652954188, ¢ &
'lf = I3 | 1
) 5x2
41652954189,

Question Number : 78 Question Id : 41652913853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If the tangent to the curve, y=x"+ax—bat
the point (1, —5) is perpendicular to the
line, —x+y+4=0, then which one of the
following points lies on the curve ?

Options:

41652954190, (2 —1)

2 —
41652954191.(“' 2)

1652954192, (2 1)

-7
41652954193.( 2,2)

Question Number : 78 Question Id : 41652913853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e a% y=2" +ax—b & fag (1, — 5) WE=
TE TIIRE], T —x +y+4=0 R FaEd g,
= 5 4 =9 W fag, 9% W fem g2
Options:

41652954190, (2 1)

2 —
41652954191.(“' 2)
416529854192

41652954193.

Question Number : 79 Question Id : 41652913854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Slope of a line passing through P(2, 3) and
intersecting the line, x + y=7 at a distance
of 4 units from P, is :

Options:
J5-1
41652954194, V541
e
=
41652954195. 145
7 —1
41652954196, V7 +1
=7
41652954197, 147

Question Number : 79 Question Id : 41652913854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
P2, 3) ¥ & F 9H 9l UH @, o
x+y=7F P& 4 3HE F Th W whrf
FA 8, B e (slope) e:

Options:
J5-1
41652954194, V541
1-/5
=
41652954195. 145
7 —1
41652954196, V7 +1
=7
41652954197, 147

Question Number : 80 Question Id : 41652913855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



If a tangent to the circle x* +y>=1 intersects
the coordinate axes at distinct points P and
Q, then the locus of the mid-point of PQ
is:
Options:
41652954198, ¥ TV —2y=0

2 < S, = [
41652954199, ¥ T¥ —2xy~=0

areszesazpy, * Y Ayl

b < SR o2agd —
41652954201, X Ty —16x%y

Question Number : 80 Question Id : 41652913855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
G T2+ P = 1 Tl U DRI Fawne s
%1 fum fagadl P aer Q W wfa=se &%l &, a1
PQ % weAfag F1 459 (locus) T :

Options:

1652954198, ¥ TV —2xy=0

2 < S, = [
41652954199, ¥ T¥ —2xy~=0

areszesazpy, * Y Ayl

b < SR o2agd —
41652054201, X TY —16x7y==0

Question Number : 81 Question Id : 41652913856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If one end of a focal chord of the parabola,
3{3= 16x is at (1, 4), then the length of this
focal chord is:

Options:

41652954202, 5

41652954203, A

41652954204, 2



20
41652954205,

Question Number : 81 Question Id : 41652913856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
afe TEed i =16x FI T AT4sital & TH
DR (1,4) W T, T 59 IISHa0 1 o= ¢
Options:

41652954202, 5

41652954203, A

41652954204, 2

20
41652954205,

Question Number : 82 Question Id : 41652913857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If the line y=mx+7/3 is normal to the

- E
32 2
hyperbola ZL_ _ 1, then a value of
. 24 18
mis:
Options: _
2
J5
41652954206,
V5
41652954207, 2
3
41652954208. Jg
J15
41652954209, 2

Question Number : 82 Question Id : 41652913857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



afs @ y=mx+7J3, Afaaad

2 2

[ Vo . =
r YV _ 1 wafyeed A m 1 TEOE
24 18
z
Options:

2
41652954206, V5

V5
41652954207, 2

3
—

J15
41652954209, 2

Question Number : 83 Question Id : 41652913858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

x-1 _ y+1 22
2 3 4

plane, x +2y+3z =15 ata point P, then the

If the line, meets the

distance of P from the origin is :
Options:

41652954210, 7/2

41652954211. %2

41652954212, 2\1’§

5/2

41652954213

Question Number : 83 Question Id : 41652913858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

1 ¥l z2—2
Ife @ 5 = g g Jou
x+2y+3z=15 % fg P W foewd &, G1P =+

Options:



41652954210, 7/2

41652954211. 92

41652954212, QJE

5/2

41652954213

Question Number : 84 Question Id : 41652913859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A plane passing through the points
(0, =1,0) and (0, 0, 1) and making anangle

} with the plane y —z+5=0, also passes

through the point :

Options:

2, 1,9

41652954214.

2, -1,-4)

41652954215,

V2,1, -4)

41652954216‘(

4165295421?,(03;1'4)

Question Number : 84 Question Id : 41652913859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
fagi (0, —1,0)T=1(0, 0, 1) F B T M el

@Wﬁ’fﬂﬂﬁﬁy—zw:o%mﬂg
F1 F0 5 €, T # § g g 9 @
A1 8 ?
Options:
2, 1,4
41652954214, (2 )
2, -1,-4)

41652954215,



2,1, -4)

41652954216‘(

2, 1,4

41652854217,

Question Number : 85 Question Id : 41652913860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

—_ A

Let «=3i+j and B=2i-j+3k. If
P = B1- B2, where P1 is parallel to o
and P2 is perpendicular to : , then
P1 X B2 is equal to:
Options:
1 3i+9j+5k)
41652954218.

L8 &
~(3i-9j+5k)
41652954219, 2

P Fa ey
3i+9j+5k
41652954220.

3i-9j-5k
41652854221.

Question Number : 85 Question Id : 41652913860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

— I

WA a=3i+j TN B=2i-j+3k ¥ AR

B = Bl Bz%,aﬁﬁ}wfw;%w%

a Po ufaw o ¥ wEaa g, @ By X Ba
T T
Options:

1 3i+9j+5k)

41652954218.



13i-9j+5k)

41652954219.
3i1+9j+5k
41652954220.
3i-9j-5k
41652854221.

Question Number : 86 Question Id : 41652913861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Four persons can hit a target correctly with
babiliti 1 -1 d'1 tivel
roba 68—, — and — respectively
P “d o e i y-
If all hit at the target independently, then

the probability that the target would be hit,

is:
Options:
25
41652954222, al
1

41652954225, 192

41652954224. 32

25

41652954225, 192

Question Number : 86 Question Id : 41652913861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

mmﬁﬁmmawmﬁmmﬂm
111 1

FH &I WFHa HH: E 3 4 8 gl
Ife g+l 59 @188 W Ea €9 4 B 4 8, Al
5 Y AT B 1 Wil € :
Options:

25

32

41652954222.



41652954223.

41652954224. 32

25

192
41652954225‘19"

Question Number : 87 Question Id : 41652913862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

If the standard deviation of the numbers

-1,0,1,kis /5 wherek >0, then k is equal

to:

Options:

416852954226, ""I{a

41652954227,

41652954228.

.
w | O1]

41652954229,

Question Number : 87 Question Id : 41652913862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

afg HEmsii 1,0, 1, k F 99 fa=e[,5 2,
W k>0% Tk TRE

Options:

416852954226, ""I{a

41652954227,

2
41652954228,



4,
41652954229, |

w | O]

Question Number : 88 Question Id : 41652913863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The value of
c0s>10° —cos10° cos50° + cos>5(° is :

Options:

3 .
— 4+ cos20°
41652954230, 4

41652954231, 34

3 X
—(1+cos 207)
41652954232, 2

3/2
41652954233,

Question Number : 88 Question Id : 41652913863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
€0s°10°— cos10° cos50° + cos>50° T HH 7 :

Options:
3 .
== cos 20°
41652954230, 4

41652954231. 3/4

3 X
—(1+cos 207)
41652954232, 2

3/2
41652954233,

Question Number : 89 Question Id : 41652913864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let S={0¢]—2w, 27]: 2cos20+3 sinf =0} .

Then the sum of the elements of S is :

Options:



41652954234

41652954235, 3
41252954228,

41652954237,

Question Number : 89 Question Id : 41652913864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
HMHAT

S={0¢[ -2, 2] : 2 cos>0 + 3 sin0=0} ¥,
1S T Il F ATEA €

Options:

41652954234

41652954235, 3
41252954228,

41652954237,

Question Number : 90 Question Id : 41652913865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
For any two statements p and q, the

negation of the expression pv(-~p~aq)

i5:
Options:
2 A~ g
41652954238, P 1
~p VA g
41652954239, P 1
41652954240, P~d
Peq

41652954241.



Question Number : 90 Question Id : 41652913865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
gl &1 Tl p 9 q & T, =ie®
'p v~ pf\q)?ﬂﬁﬁ‘éﬂ (negation) 2

Options: '
41652954238, P
41652954239, P ¥4
a1652954240, ¢
Peq

41652954241.



